" 1/1400 B (mamd) (mare) B
(4705 £ %) BEOEEE ¢ ¢y AEIER 130814142 z| 4504
Lol
B »

® #tvcpLen
£ BB M
® & 8 7w
—BERAEY

EEMLUSND
I

EM - &AM

-—- 27 Tz v R

@ o n > E

LIk ZH49)

I Hfi%%i-
N >

EMEBHERE
933m

8,933m

ABaz g

waz
® R3-1310mi|

R 1-28ni | BEHR
ok

EFSAMRE




c 5 m . 1/500 ? K he g ﬂi%ﬁEJ) i | @ &) % 4504
o 0 5 10 5 0 m|#% BINERR
(FM5EE) (h R : : : | |# £/018/41412/1111114/2
,3.50 A E-LTERE 13.40
750 2.40] 9.90 | 750 paq 350] 9.90 3.90
.~ 7.50 f 40 |
fErr
° =) ° B E%
2| praz % Al 3 | mmnm g
e |
) i 2| mIme | e ) g EHE
o FRIZE . ! o & -
| 500 @ ) w | B 7 @
1 ! E-I-j. i ] TEB 5 =
- 1 E g 2| - ERE
. B{Em B-14& BE ‘ o o . 2 #fgE
® — g miEE HRAEE © @ s B-14& s |
o FO —
. ° B ® E X = | T
B - g A-14E B o= — x : BRE "
S i q= c g 3 _ N, =1
- | %EQZ@ BE ole | BREBE 2| | ®w FRES g | y ES
@ ‘ ‘ [ S | | ammm e T T
o g - ] N
z S REEIES: & <) g |BF|%*F
N = R @A | @ AHE @ | 8 - X WATEs ®| @ | @ | AHE
— © B P ")
!E A-2%& — [ 5.29 - J A-2%F EXPY —
° b EXPJ  R1-28n
2 | 3.9 13.00 | - | | 13.00 | °
= 2 B ELRE 3 - o |mmERE
2.00 o =
: (D A$3EE)
8 8 [ER
¥ P ek ¥ Bl
¥ 8 o b
- REHE 8
B-2#& - B-24&
i R R IREE i =
i B =2
kb 3 RIS IRHE e 2 HRERE B
1 P& . 2 [ S |rmem | | B
BE
7.50 2. 40 7.50 P.40
3.50 9.90 3.50]
X 8 B F A




P g MEAE) (FETH) ) %;
¥ m|m 0 5 0 m| T 1 T, T 1
(#7015 £5) @ R[] | £1018/41412/1111114]5 4004
9.90 3.50 ML E-—-—LTEHF 4.285
7. 50 2. 40 9. 90 3.90
7.50  2.40 3 00 - i
[ 1 o o — . B
5 2AF—T e o | PEE TwRd
3 = & 0 | 3 - —
® 3 | 57 .
A1 B FxE \
- 2 :
S BEE E \
8 i b HE T | 5
< ¥ o @ RFE " \
@ B X
| LS “ | & - eSS 8 . A .
= 3 © = A N
J | mmEmz | T - o EXE N E a1 4o B Wik if I
2| (b AttrE) R [ ols| | B-1#& 3 % g g |4 SN
=] o RREE . /N
@ E e | B B /
— X E Wk 1-9E = /
A-TiR k| (2 =N A /
o = 4#5'];?@]? = B | THES| DA [ EE = S . p
@ (D A#IEE) /

B 3 - 7= 12
g N E o @ @ 2 2; ;; Q " | 3.50]2.59 21.20 1.d 20. 10 |1)os
® = 5 it HEE Z cxpy 22 22

h - i e

- A-215 1 [ 2 [

5.00 o | BHEDE
8 " o | Az hEfE 945
° = 13.00 2.
8 z (B
8 N T
o |TAT47N—4
B-24§
8 5
9. 90
EE g | wuzEmz | B
3 | mmam | | 2
7.50 2.40
9.90 3.50]

X BHFEAR




P 1/500 - g mERE) (AR # #® %
T = 0 10 15 0 m| # N2t \ 1 T
('%*D5EF§') (3) R! | | ! é RBINFER 5018 41412 1111114§ 4504
5.64 15.87
4.68 9.85 5.08 I ] (
L& %] ]
L £ [@] r, i
[ - % K ‘K i Erﬁ
=
Ky T /i R ~E % | |TamEz
15. 53 29.05ni 14.83ni . =
2 Evm—% EV
BLRE = REE
21.40
6.25 12. 50 2. 65 6. 00
[ | —
o |Z]5|8 HEIR B 1E §[ ® WEEEVHE 400ni
0 x| X C P & i1
A »-wmE= BE b0t
86.99m 24.00m

fE EVi-) EV
E V&
2 B&

fE EVi-) EV

Evffi
3 fE

X8R FEAE




	大谷小学校_配置図
	大谷小学校_平面図１
	大谷小学校_平面図２
	大谷小学校_平面図３

